1. a) 
	
	P=1200-5Qd
	P=300+5Qs

	Q
	P(Qd)
	P(Qs)



	0
	1200
	300

	5
	1175
	325

	10
	1150
	350

	15
	1125
	375

	20
	1100
	400

	25
	1075
	425

	30
	1050
	450

	35
	1025
	475

	40
	1000
	500

	45
	975
	525

	50
	950
	550

	55
	925
	575

	60
	900
	600

	65
	875
	625

	70
	850
	650

	75
	825
	675

	80
	800
	700

	85
	775
	725

	90
	750
	750

	95
	725
	775

	100
	700
	800

	105
	675
	825

	110
	650
	850

	115
	625
	875

	120
	600
	900

	125
	575
	925

	130
	550
	950

	135
	525
	975

	140
	500
	1000

	145
	475
	1025

	150
	450
	1050

	155
	425
	1075

	160
	400
	1100

	165
	375
	1125

	170
	350
	1150

	175
	325
	1175

	180
	300
	1200

	185
	275
	1225

	190
	250
	1250

	195
	225
	1275

	200
	200
	1300

	205
	175
	1325

	210
	150
	1350

	215
	125
	1375

	220
	100
	1400

	225
	75
	1425

	230
	50
	1450

	235
	25
	1475

	240
	0
	1500




b)
[image: ]

c)
P=1200-5Qd
P=300+5Qs
2P=1500
P=750

750=1200-5Q
-450=-5Q
Q=90

The equilibrium price is $750 when quantity is 90. It also shows in my table.

d)  
1200-5Qd=700, Qd=100.    
300+5Qs=700， Qs=80.
100-80=20
Therefore, with the rent control, 80 units are being rented; there is a shortage of apartments by 20. 
e)
Consumer surplus before = ½ (1200-750) 90= 20250

Producer surplus before = ½ (750-300)90 = 20250

New consumer surplus=½ (1200-700)100=25000

New producer surplus:= ½(700-300)80=16000
According to my calculation the total consumer surplus increased and the the total producer surplus decreased.
Deadweight loss= (90-80) (800-700)/2=500.




2. a)
i) The approximate current annual expenditure level for 2014-2015 is $259 Billion.
ii) This counts for 14.5% of the GDP.
iii) Program spending accounts for 89.6% and spending on debt servicing accounts for 10.4%.
iv) The current annual revenue level is $276.3 billion. 
v) In 2014-2015, the projected deficit is 2.9. Government remains on track to achieve its goal of returning to balanced budgets in 2015.
vi) Big-ticket items when it comes to government spending are expense such as direct program spending, major transfers to other government level, public debt charges, and major transfers to persons. 
vii) Excise taxes and income taxes is the major source of revenue the federal government is concerned.
b) 
i) The projected level of expenditure for budget year 2014-2015 is about 130 billion dollars.
ii) The 6 important expenditure areas are: Health, Children and Social Services, Education, Infrastructure and Transportation, Justice, and about 32.6 billion dollars are slated for “training, colleges, and universities”
iii) The projected level of revenues for budget year 2014-2015 is 118.871 million.
iv)Taxation Revenue is the major source of revenue for the provincial government.
vi) The projected level of the deficit for budget year 2014-2015 is $12.5 billion.
3. a)[image: ]
b) [image: ]
c) [image: ]
d) In all three tables, marginal product is decreasing. This is due to the law of diminishing marginal product: as the amount of labour is increased, the return of output incrementally decreases.

e) In all three tables, average total cost decreases, then increases at the end. This is because the per unit cost minimizes at a certain point, then increases again. The total cost growth overtakes the output growth rate. 
f) In all three tables, marginal cost decreases at the start, then increases again. This is because the cost of producing the marginal unit increases quickly after a certain minimal point of production is reached. 
g) The marginal cost increase then decrease. Marginal cost decrease then increase. They both relate increases in cost and output at the margin. 
h) Going from case A to case B, total cost, average total cost, and marginal cost are all affected. Because cost of paying for firm B’s workers ($150 per worker) is going to increase at a higher rate than firm A ($100 per worker). Therefore, when output increases, the firm B’s total and average total costs will be increase. Their cost of adding the marginal worker will be increase too.
i) Going from case A to case B, only total cost and average total cost are affected. Both of these variables are going to be greater and their curve will be higher up for firm B because it has a greater total fixed cost than firm A. However, for marginal cost, both firms are the same because the cost for hiring an additional worker is the same. Both firms have the same salary per worker rate ($100).

j)
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